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1.2+40%= 80X (1+20%) = 12-(1—40%) =
18+30% = 70X (1+30%) = 2.4+ (1—20%) =
14-+20% = 60X (1+40%) = 45+(1—10%) =
5.6+10%= 50X (1+50%) = 3+-(1—50%)=
39+-13% = 40X (1+60%) = 48+ (1—80%) =
7.6+38% = 30X (14+70%) = 90+(1—70%) =
0.72+36% = 20X (1+80%) = 3.6+(1—60%)=
15+5%= 10X (14-90%) = 0. 65+ (1—90%) =
0.8+80% = 800X (1+25%) = 0.08+(1—98%) =
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1—15%=
30X5%=
4-40% =
10+-1%=
1+67% =

1+25%=

0.7=70% =
20%+30% =

60X 20% =

1.8-90% =

15+-50% =

7.7+11% =

210+=70% =

45--90% =

40X 25% =

ZBSE(C)

6 — . BRI 5EENN

50X (1—80%) =
30X (1+20%) =
8X (1+25%) =

0.7+(1—90%) =
24+ (1+20%) =
40X (1—70%) =
4.5X(1—80%) =
30+(1—85%) =
800X 5% X 2=

(1300—300) X 6% =

(9000—5000) X 4% =
2000X1. 5% X 5=

(300—200) +25% =
(300—200) X 25% =

24 (1—20%) =
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At (de 11 A1 BE) AR 85 A ek ie bl &, BREE

X



10

EaBasew NAEEZHEE T (R)

=.BiESES "
1. Rk 5
EI*ZEBIIAIR
14X 1= 3.14X0. 1= 3. 14 X1 X2=
.14 X2= 3. 14X0. 2= 3. 14 X2X2=
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.14 X9= 3.14X0. 9= 3. 14 X40X 2=
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.14 X40= 3. 14 X0, 03= 3.14 X35 X2=
.14 X60= 3.14X0. 04= 3. 14 X45X 2=
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. 14X0. 6=
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.14 X0.4X2=
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.14 X4.5X2=

.14 X100 X 2=

. 14X200X 2=

.14 X300 X 2=
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.14 X20X 2=
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C=6. 28m,h=0. Im
S =
d=10dm,h=4dm
S =
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HE=EPIEETIR(2)

(2+2)= 3. 14 X6 X5= 3. 14 X5+3. 14 X4=

(10+2)2= 3. 14 X8 X5= 3.14X2+3. 14 X6=

(18+2)2= 3. 14 X15X2= 3.14X3+3. 14 X7=

(1+2)t= 3. 14 X4 X25= 3. 14X4+43. 14 X6=

3. 14X 1= 3. 14 X8 X125= 3. 14X 1+3.14X8=

3. 14X 2= 3. 14 X7X0.1= 3.14X12+3.14X18=

3. 14X 3= 3. 14 X9X10= 3. 14 X27+3.14X23=

3. 14 X10*= 3. 140, 1 X100= 3.14X2+3.14X2=

3. 14X (4--2)*= 3. 14X 35X 2= 3.14X0. 143. 14 X0. 2=

3. 14X (6+-2)"= 3.14X2X10= 3. 14 X30+3. 14 X60=

3. 14X (20+2)= 3. 14 X45X 2= 3. 14X11+3.14X19=

3. 14X (40+2)= 3. 14 X12X5= 3. 14X 25+3. 14 X75=

3. 14X (60+2)2= 3. 14 X30X3= 3. 14 X7+3.14X3=

3.14X(0.2+2)"= 3.14X25X2= 3.14X34—3.14 X14=

3. 14X (0. 4+2)2= 3. 14X 2. 5X8= 3. 14 X52—3. 14 X45=
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31.4-=-3. 14=

9.42--3. 14=

9423, 14=

15.7=3. 14=

1.57=3. 14=

12.56=3. 14=

18. 843, 14=

188.4--3. 14=

62.8=+3. 14=

125.6-+3. 14=

1573, 14=

219.8-+3. 14=

251. 23, 14=

282.6+3. 14=

2826=-3. 14=

3.

3.

1. [Rik

H4ZERIEETIR(3)

L14AX5+12=
LNAXT—10=

. 14X304-20=

14 X6+5=

14 X40+430=

14 X11—3. 14=

3. 14 X100+100=

3X4+3. 14=

oX3.14—3. 14=

3.

14 X8+5=

2X1.2X5=

3.

14 X5 X2=

3. 14 X4X0. 25=

3.

14 X5+10=

9.42=3.14+2=

3. 14 X1343. 14 X17=
3. 14 X16+3. 14 X4=
3. 14 X25+43. 14 X15=
3. 14 X81+43. 14 X9=
3. 14X 36+43. 14 X4=
6.28=+3.14+2=

00X 3. 14 X20=
TX3+5X6=
28+6X7=

3. 14 X4+50=

3. 14X9+3. 14=

94, 2--3. 14+2=

3. 14X5=-10=
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8+43.14X2=
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1.2X5=

48 X20=

25X0.2=

2.1 X9=

9.6X0.2=

3. 14X 3=
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1.4 X 7=
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3. 14X 22 X 25=
3. 14X 42 X5=

3. 14X 52X 2=

3. 14X 52 X4=

3. 14X 12 X5=

3. 14X 12X 6=

3. 14 X0. 22 X25=
3.14X0. 1 X100=
3. 14X20* X 2=
3. 14X 52X 20=
3. 14X30* X0, 1=
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4,2-+2= 3.14+3. 14= 3.14+3.14+2=
2--0.2= 6.28=+3. 14= 6.28+3.14+2=
8§+0.01= 9.42-=-3. 14= 9.42-=-3. 14=+2=
0.63+—3= 12. 563, 14= 12.56=-3. 14=-2=
3.6=0.4= 15.7=3. 14= 15.7-3. 14=-2=
42--0. 7= 18.84+3. 14= 18.84=+3.14+2=
24.6+3= 21.98+3. 14= 21.98-+3. 14=+2=
1.6+—8= 25.12-+3. 14= 25.12--3. 14=+2=
960-+—20= 28.26+3.14= 28.263. 14+2=
5.6+1.4= 31.4+3. 14= 31.4-=+3.14+2=
9.2+2= 1. 2563, 14= 1.256+3. 14+-2=
16. 8+4= 1.884+3. 14= 1. 8843, 14--2=
5.2+1.3= 62.8=+3. 14= 62.8+3.14+2=
9.8=0.7= 942-=-3. 14= 942-=-3. 14=-2=
36—1.2= 2.512-+3. 14= 2.512--3. 14-=-2=
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14X 7= 42 —32= 3. 14X (42 —3%) =
.14 X9= 52—42= 3. 14X (52 —4?) =
14X 20= 62 —42= 3. 14X (62—4%) =
14 X40= 72 —32= 3. 14X (7P —3%) =
.14 X60= 82 —22= 3. 14X (8 —2%)=
14X 80= 92 —12= 3. 14X (92—1%H) =
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0. 23X 3= 3. 14X 90= 3. 14X 22 =
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7240, 8= 3. 140, 6= 3. 140, 3 —
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50% = 15. 73, 14— 12,563, 14+ 2=

0. 360, 18= 18. 843, 14— 04,23, 14=2—=
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1.13.4 44.9

6.6 5.1
25.8 4.5
14.2 14.7
4.5 25.7
0.5 0.96
7.5 1.24
3.1 15.75
5.4 5
4.2 14. 24
6.1 2. 84
5.5 5
3.6 10

%2R
9 90 90
8 80 16
7 70 35
4 40 24
6 60 66
5 50 60
5.5 55 100
1 10 90
2 20 6
3 30 13.5
8.8 88 30
9.5 95 9.6
6.5 65 60

% 3;
9 90 630
§ 80 640
7 70 420
2.5 25 50

2. <

vV VAV V VA ANV AA

90
16
35
24
66
60
100
90

13.5
30
9.6
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630
640
420

50

4 40
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2 20
1 10

4.6 46

1.025
0. 975
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1. 015

35
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360
440
600

50
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100

=
o1
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0.075
0.17
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0. 0029

i
i
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485
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156
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1. 46 0. 249

1.046  0.077

1.354 0.328
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1.072  0.25
%6 W

360 60

36 6

900 60

90 6

1040 0. 055

104 1

1800 100

180 1

540 10

54 10

650 1

65 2
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9.8 9

98 0. 88
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36 84

54 120

60 90

100 150

140 210

90 130

120 140
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A A
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357
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60

20
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1600
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240
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10
36
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20
12
0.9
200
80
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